Answers: Introduction to integration

Donald Campbell

Summary

Answers to questions relating to the guide on introduction to integration.
These are the answers to Questions: Introduction to integration.

Please attempt the questions before reading these answers!

Q1
4 1 5
1.1. €T dx:gaz +C
1.2. /Zxda::x2+0
5 7 6
1.3. 7T d:czgx +C
1.4, /—5dt: —5t+ C.
3 3
1.5. —dy=—y2+C.
/y3 Yy 5Y +
1.6. /61’ dr = =4 C
2
1.7. /——5@1 =gz *+C
X
8 8
1.8. — dx=——qg° .
/3:56 T 159: +C
7 7
1.0. —— dz=—zF6
9 / 2Z7dz 122 +C.
1.10. / 1/3dx—— i3 4 C.
1.11. /3 =234t = 9t/3 + C.
4 1/4
1.12. / = 5/4+C
3
22/3
1.13. /5x1/3 +C.


../questions/qs-introtointegration.qmd

Gy —4/3 14
Q5
2.1. /e2xdx: —e?* 4 C
2.2. /—36_3‘” de=e3" 4+ C
11z 2 11z
2.3. 2¢ P der = —e "+ C
11
4
2.4, /—dx:41n]a:\+0
x
5 5)
2.5. - =——1
5 / 3x dx 51 lz| + C
2.6. /cos(:c’) dz =sin(z) + C.
) 1
2.7. /sm(Qx) do = 5 cos(2x) + C.
5 5 .
2.8. 8 cos(z)dz = 8 sin(x) + C.
L
2.9. /COS(3LE> dz = 3 sin(3x) + C.
2.10. /sin (g) dxr = —3cos (g) +C.
Q3
4
3.1. / 2dr =6
1
2
3.2. / 3xdx =
—2
4
3.3. / 223 dor = 120
2
3.4 /27 1 d 48
4. x =
L
In(3)
3.5. / 4e”dr =8
0
> 1
3.6. / e3dr == (1—e19)
A 3



“9 54
3.10. /—dx:—
e3

5% 5
/2
3.11. / sin(z)dr =1
0
3.12. / cos(z)dx =0
0
/4 1
3.13. / sin(2z)dz = =
0 2
/6
3.14. / cos(2z) dz = V3
0 4
0
1 1
3.15. / sin(3z)der = —= — ——
—m/4 3 3\/§

Version history and licensing

v1.0: initial version created 05/25 by Donald Campbell as part of a University of St Andrews
VIP project.

This work is licensed under CC BY-NC-SA 4.0.


https://creativecommons.org/licenses/by-nc-sa/4.0/?ref=chooser-v1

	Q1
	Q5
	Q3
	Version history and licensing

